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Net Dental Renewal Increase
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Renewal Probability Model
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Assumptions

Demand for Dental Insurance
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Renewal Probability Model
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Win Rate

Renewal Probability Model

Win Rates Based on Rate Increase and Loss Ratio
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Renewal Probability Model - Implementation

revenue= (1+rate increase)*win rate

Rate Increase
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Renewal Increase
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Strategy #1
Implementation

Expenses decrease
and revenue
increases steadily

Increase profit
overall

Dollars (in millions)
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Projected 3 Year Plan

LOSS RATIO PREDICTION
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Combined Strategy Desired Outcome
Decrease loss ratios so that average for all bands is < 70%.
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Additional Solutions
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Solution:

Raise the premium cost by small
increments for groups with loss
ratios <0.7 and raise premium by
large increments for remaining
groups.
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